


27

H26

H27

H2 7

H2 8

H28

H29

H29

2 I I *
















16 7.8

16 7.8



WG

Sva

WG

WG

Sva

I+






WG

10



WG

10

11



24

24

12



13



PLUM

14

WG



15



16



17



18



19



=

41209 Xigm&)II=8E]

10

1
|
!

Sva[cm/s]

01

0.01

R DN WP~

0.001
08:43:30
(537

08:44:00

1wE —
we ——
ﬁ—

08:44:30
4 ——
S ——
e ——

08:45:00

20




xx 0O © o

BE : WAEEAY 27 L(SRELL)

M

BT (Mj6.9) =M W
EREH(57R)




0843507 — — — — —
1 0843542 3.5 3® | 14 1 | 10km 5.7
2 Josassw | a5 Jsaliafsem| s
3 0843561 5.4 39 14 ® | 10km 6.2
4 0843568 6.1 39 14 ® | 10km 6.3
5 0843591 8.4 39 14 ® | 10km 6.7
6 0844021 114 39 14 ® | 10km 6.7
7 |osasiam 22 39 [149]1@am 6.9
8 0844211 30.4 39 14 ® | 10km 7
9 0844421 514 39 14 ® | 10km 7
10 084 4536 62.9 39 14 ® | 10km 7

130° 140° 141° 142°

22




100 ¢

Svalcm/s]

0.01 ¢

0.001

10 ¢

ey

P i i

=

08:43:30

100 p

10 |

Sva[cm/s]

0.01 |

0.001

08:{,_4:90

08:4_{_:_3_0 08:45:_(_]@

08:45:30

47590 IlE =R X L%

g

1 1

Bzl

08:44:30

08:44:00 08:45:00 08:45:30
1WE 4WE TE —
s SpE —— 2EE -----
e —— e —— B2E —

41209 Kl =8H]

100 | — l_’ —
‘[_,' 4
10 F ' \\ '
w1t -
£
‘®
l.?} -
01
0.01 | _‘
0.001 - L - — :
08:43:30 08:44:00 08:44:30 08:45:00 08:45:30
47604 R RXEBXE]
100 T T T T T
H‘.’ﬁ
bt ; A
e AF
£
£
vy 0_1 e
0.01 +
&
0‘001 1 - i L " 1 " " L " L
08:44:00 08:44:30 08:45:00 08:45:30 08:46:00
2 W 1Wae 405 TiE ——
WE SHE —— A -----
e —— 6MWE —— =g —

2=

BE



1M (Mj5.7) AN FHl B2 (Mj6.1) 2F9HE Wl WB3W (Mj6.2) 2FHE Wl
BE : PRSEUANEZROT ) R)=E(1R) BR: 7URI-EQ2R) BE: J)yRY—-FEGCR/AR)
M: Z2REME(IR) M: 2REME(1R) M: 2REHE(OR)

—7

(0]
. 140 150" 140" 150
FAE (Mj6.3) £EMN WHE MBS (Mj6.7) MR W3 63 (Mj6.7) AN WHE ®
BE : BEEAY X7 L(SRELE) BE : BHENAY X 7 LGGRELL) BE - BRI X7 L(SRELE)
M : PH/EEREQCSR M : PH/EHERECGR M : PH/SHREGR) °®

= w=n ’ e

88856888888

150°



B7H (Mj6.9) 2/ WH H8M (Mj7.0) 253 Wil HoW (Mj7.0) =M Wl
BR : BN 25 L(SRRLE) BE : BB 2 7 L(5RELE) BE - BUNEY 27T L(SRELE)
M : 2REM(5R) M: 2R2H(5R) M: 2REM(GK)

140° 150 140 150 140° 1549

W10 (Mj7.0) 2B W e
BE : BN X7 L(SRRLE)
M : RALI(58)

100 25




200

175
150
~125

E100
e

Il 1

0 100 200 300 400

distance[km]

km

Lg, Rg 3.58km/s, 2.86km/s
26

500

2002



136°E 138°E 140°E 142°E 144°E

14 46 40.2 — — — — —

1 1446 456 54 382 142.7 | 10km 4.3
2 14 46 46.7 6.5 382 142.7 | 10km 5.9
3 1446 477 75 382 142.7 | 10km 6.8
s liss64 [ 86 |amlsszfsem[ 72
5 14 46 498 9.6 382 142.7 | 10km 6.3
6 1446 509 1 382 142.7 | 10km 6.6
7 1446 512 11 382 142.7 | 10km 6.6
8 1446 56.1 19 381 | 1429 | 10km 7.2
9 1447 024 2 2 381 | 1429 | 10km 7.6
10 1447 10.2 30 381 142.9 | 10km 7.7
11 1447 252 45 381 142.9 | 10km 7.7
12 14 47 453 6 8 381 | 1429 | 10km 7.9
13 14 48 05.2 85 381 | 1429 | 10km 8

14 1448 252 105 381 142.9 | 10km 8.1
15 1448 37.0 168 381 | 1429 | 10km 8.1

136°E 138°E 140°E 142°E 144°E

27



100

10

Sva[cm/s]

0.1

0.01

0.001

100 =

Sva[cm/s]

0.01

0.001

10

Sva

T T L S V— et et e A —— | I, A ! F— 7 100 1 T T T
= |
[ {
] = 16
N\ 10 b
o 5
477 1¢
F { E
Ly
3 301t
2
L 0.01 +
[ 1
L L " L i 1 1 " 1 0 0001 i 1 1 " 1 L 1
14:47:00 14:48:00 14:49:00 14:50:00 14:51:00 14:52:00 14:47:00 14:48:00 14:49:00 14:50:00 14:51:00 14:52:00
47774 FEAREBRZEHE 47662 RRFHXXFH
T T T T ¥ T ¥ T T 7 10'0 [ T L] T 1 T
6
L 10 +
5
L &= 1k
4 ‘w 1
15
=)
- 3 U?) 01 =
2
- 0.01 |
1
I 1 " " 1 " L " 1 L i " 1 A " il 0 01 1 1 L 1 L " 1 1 0
14:47:00 14:48:%0{3 14:49:00 14*:})5'2200 14:51:00@;}4:52:00 14:53:00 14:47:00 14:48:0?% 14:49:00 1;:;0:00 14:51:00 14:52:00 14:53:00
4 7 e 1Mwme — 4 — 7 _
B% Wa SHE ——  2Em - Pliske W SE ——  REE -
3 7y p— 6iE — [ — 3 77— E —— —




FIE (Mj4.3) 298 FE M2 (Mj5.9) = FHE BIW (Mj6.8) =HW FH
BE : BB 27 L(SRRLE) TR BEREMS X 7 L(SRELE) B - BB X7 L(SRELE)
M : BB X7 L(55R) M : 2RPHE(IR) M : 2RPE(IR)

N/ o

774

e

i
(4
2

BAW (Mj7.2) 20 = MSW (Mj6.3) 2HA B O (Mj6.6) 2EHE B
BE - BB X7 L(SRRLE) R : BB X FL(SRELE) B BRI X7 L(SRELE)
M : 2RPHE(IR) M : 2RPHER2R) M : PHI/2MRE(2R) ° 1

g

R

",

A 1
% 4
e L »a
“‘j‘-sia’f_,' -

88588888

8




B7H (Mj6.6) LN WH FOIH (Mj7.2) =HM Wi PO (Mj7.6) £HME Wi
BE - DY 7 L(SRRLE) BE : AR X 7 L(SRELE) BE : BN X7 L(SRELE)
M : PH/ZEREQRR) M : PH/2MREAR) M : PH/2MREMGR)

/A Wil

120" 140° 130° 140" 5 140
B10% (Mj7.7) £ AN =W B (Mj7.7) AW B B12% (Mj7.9) ANE B

|E - PRI X7 L(588LE) |R : B X FL(58ELE) & : BRI 7 LGRELE)
M : PHI/ZHREMAR) M: 2R28(47) M: 2R28EA4R)

885888888

g




B33 (Mj8.0) 2N WK
BE : AN R 7 L(SRLLE)
M : 2REME(IR)

N/

"y
K

143 (Mj8.1) £HY WE B153 (Mj8.1) AN WE
BE : BHEE#AY X 7 ALGGRELE) BE : BN X7 LGRAUL)
M : RS M : £ M)
4 3 7 4 " ‘ V. t L
Y1111/ ¥ N | fff’
fﬁ% » -‘J:_; oo f .;ﬁf{:&iﬁ
J k ’,- . '-',' b 100
ff o3 =
A" w
20
o
20
40
€0
=0
-100

31



400

550 -

250 1~

time[sec]

150 -

100

5

Il 1 1 1 1 | 1 | Il

300 400 500 600 700 800 900 1000 1100 1200
distance[km]
km — 1
— M
—_— M 3

32



b
150 - HEiilg ------

Hi8Rg --——-
[N °
RERR2
RGBS -

125 |- BEB4 o

100 =

time[sec]

distance[km]

km

33




km

distance[km]

34



EPOS
or

CATV

35




